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QUESTION 1
Choose the correct answer.

A system engineer has created the following model of a tank system composed of two tanks and a pipe connecting
them:

i [Block] Tamk_System | Tank System Connections | |

LA Tk _A

bdd |Packages] P11 [ Tank System Structurs & Content ]_J Ml
-
abilocks ahlocks e
Tank _System Waley
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Tk _A Pipa Tank_B Encld © Warter
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endd Srea: m?
endE Ares - me wiloweut | Viater
il L W
I"L I
1B : Tank_B

The system engineer wants to mathematically relate the flow of water through the pipe using the following mass
conservation equation: Tank_System wFlowin flowRate * Tank_System pipe endA_Area = Tank_System wFlowOut
flowRate * Tank_System pipe endB_Area How would the system engineer model this in SysML?

A. Create a block to represent the mass conservation equation, use it in Tank_System. and relate its properties to the
properties of wFlowin. wFlowOut. and pipe

B. Create a constraint block to represent the mass conservation equation, use it in Tank_System. and relate its
parameters to the properties of wFiowin. wFlowOut. and pipe

C. Create a constraint block to represent each of wFlowin wFlowOut and the mass conservation equation; use these
constraint blocks In Tank_System. and relate their parameters to the properties of pipe.

D. Create two flow properties for Tank_System (equivalent to wFlowin and wFlowOut); create a constraint block for the
mass conservation equation and use it in Tank_System.and then relate the flow properties to the new constraint

property.
E. It is not possible to model this because wFlowin and wFlowOut are item properties and not flow properties

Correct Answer: C

QUESTION 2

Choose the correct answer. Given the following diagram:
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Which diagram is correct?

A bdd [Package] Package 1 [Blocks] ,l

abloelka
B1

ebilocks
Package 1::02.1

B. |bdd [Fackags] Package 2 [Elocks] /J

shlocks
H1

shlocks
B2.2

bhdd [Fackage] Packages 1 [Blocks] I

shlocks
H1

zhlocks
Package 2::B2.1

hdd [Package] Package 1 [Blocks] /'

ehlochks
B1

ehlocks
B2Z.1

A. Option A
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B. Option B
C. Option C
D. Option D

Correct Answer: C

QUESTION 3
HOTSPOT
Choose the correct answer.

A project has produced the following initial draft sequence diagram fragment:

Hot Area:
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Correct Answer:
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QUESTION 4
Choose the correct answer

Given the following bdd for a token ring network, in which a token flows from node n to node n+1 except that when it
reaches the node at the maximum position n flows to the node at the minimum position.

bdd [Bloedk] Ring [Qu=sbon] -____l
Ruirg - MNods Genenc Mode
L3 fre )
bicide Position: Integer .
Flode

Which ibd correctly models this behavior?
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A. Option A
B. Option B
C. Option C
D. Option D

Correct Answer: B

QUESTION 5

Choose the correct answer
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What is the statement An activity specifies the behavior of a use case?
A. a constraint defined in SysML

B. a guideline from a methodology

C. a constraint of the activity element

D. a constraint of the use case element

Correct Answer: A

OMG-OCSMP-MBI300 VCE OMG-OCSMP-MBI300 OMG-OCSMP-MBI300
Dumps Exam Questions Braindumps

OMG-OCSMP-MBI300 VCE Dumps | OMG-OCSMP-MBI300 Exam Questions | OMG-OCSMP-MBI300 7/7
Braindumps


https://www.geekcert.com/omg-ocsmp-mbi300.html
https://www.geekcert.com/omg-ocsmp-mbi300.html
https://www.geekcert.com/omg-ocsmp-mbi300.html
https://www.geekcert.com/omg-ocsmp-mbi300.html
https://www.geekcert.com/omg-ocsmp-mbi300.html
https://www.geekcert.com/omg-ocsmp-mbi300.html
http://www.tcpdf.org
https://www.geekcert.com/omg-ocsmp-mbi300.html
https://www.geekcert.com/omg-ocsmp-mbi300.html
https://www.geekcert.com/omg-ocsmp-mbi300.html
https://www.geekcert.com/omg-ocsmp-mbi300.html

